### State of Maine DEPARTMENT OF EDUCATION

#### **2021-22 ELEMENTARY TUITION RATES**

**Grades PreK-8** 

|  | Grades Piek-6     | PreK-8     | 2021 - 22    |
|--|-------------------|------------|--------------|
|  | 2020 - 21         |            |              |
| Sahaal Administrative Unit                         |                   | Attending  | Elementary   |
| School Administrative Unit                         | Operating Expense | Enrollment | Tuition Rate |
| Acton School Department Airline CSD                | \$2,992,678.08    | 216.5      | \$13,822.99  |
|  | \$438,991.52      | 42.0       | \$10,452.18  |
| Alexander School Department Andover Public Schools | \$492,625.16      | 44.0       | \$11,196.03  |
|  | \$536,683.09      | 35.5       | \$15,117.83  |
| Appleton School Department Athens Public Schools   | \$1,705,306.86    | 129.0      | \$13,219.43  |
|  | \$1,213,642.38    | 108.0      | \$11,237.43  |
| Auburn School Department                           | \$20,701,665.19   | 2292.0     | \$9,032.14   |
| Augusta Public Schools                             | \$12,567,498.10   | 1505.0     | \$8,350.50   |
| Baileyville School Department                      | \$1,535,666.95    | 171.0      | \$8,980.51   |
| Bangor School Department                           | \$23,393,938.98   | 2312.0     | \$10,118.49  |
| Bar Harbor School Department                       | \$4,351,524.02    | 328.5      | \$13,246.65  |
| Beals School Department                            | \$666,039.77      | 44.0       | \$15,137.27  |
| Biddeford School Department                        | \$16,010,667.95   | 1602.0     | \$9,994.17   |
| Blue Hill School Department                        | \$3,081,378.06    | 252.0      | \$12,227.69  |
| Boothbay-Boothbay Hbr CSD                          | \$4,020,962.91    | 310.5      | \$12,949.96  |
| Brewer School Department                           | \$8,208,199.68    | 899.0      | \$9,130.37   |
| Bristol School Department                          | \$2,404,706.52    | 190.0      | \$12,656.35  |
| Brooklin School Department                         | \$1,037,054.80    | 56.5       | \$18,354.95  |
| Brooksville School Department                      | \$1,115,278.91    | 61.0       | \$18,283.26  |
| Brunswick School Department                        | \$18,286,466.91   | 1609.0     | \$11,365.11  |
| Calais School Department                           | \$2,371,731.57    | 348.0      | \$6,815.32   |
| Cape Elizabeth School Department                   | \$13,531,847.61   | 958.0      | \$14,125.10  |
| Castine School Department                          | \$814,918.15      | 47.0       | \$17,338.68  |
| Caswell School Department                          | \$448,750.02      | 48.5       | \$9,252.58   |
| Charlotte School Department                        | \$409,335.98      | 29.5       | \$13,875.80  |
| Chebeague Island School Department                 | \$407,667.54      | 11.5       | \$35,449.35  |
| Cherryfield Public Schools                         | \$988,260.17      | 83.0       | \$11,906.75  |
| Cranberry Isles School Department                  | \$366,114.25      | 11.5       | \$31,836.02  |
| Cutler School Department                           | \$515,298.82      | 52.0       | \$9,909.59   |
| Dayton School Department                           | \$1,590,085.74    | 121.0      | \$13,141.20  |
| Dedham School Department                           | \$1,794,242.90    | 156.0      | \$11,501.56  |
| Deer Isle-Stonington CSD                           | \$2,342,524.17    | 207.5      | \$11,289.27  |
| East Machias School Department                     | \$1,265,900.87    | 162.0      | \$7,814.20   |
| East Millinocket School Department                 | \$1,412,609.80    | 127.0      | \$11,122.91  |
| East Range CSD                                     | \$286,411.27      | 23.5       | \$12,187.71  |
| Easton School Department                           | \$1,825,364.09    | 157.0      | \$11,626.52  |
| Eastport School Department                         | \$893,735.32      | 99.0       | \$9,027.63   |
| Edgecomb School Department                         | \$1,373,737.60    | 107.5      | \$12,778.95  |
| Ellsworth School Department                        | \$6,642,798.14    | 796.0      | \$8,345.22   |
| Eustis Public Schools                              | \$1,603,793.47    | 84.5       | \$18,979.80  |
| Falmouth School Department                         | \$17,488,124.72   | 1357.5     | \$12,882.60  |
| Fayette School Department                          | \$905,480.00      | 77.0       | \$11,759.48  |
| Frenchboro School Department                       | \$138,274.04      | 2.0        | \$69,137.02  |
| Georgetown School Department                       | \$1,220,430.57    | 44.5       | \$27,425.41  |
| Glenburn Public Schools                            | \$4,458,591.38    | 395.5      | \$11,273.30  |
| Gorham School Department                           | \$19,952,155.31   | 1880.5     | \$10,610.03  |
| Great Salt Bay CSD                                 | \$3,797,579.11    | 384.0      | \$9,889.53   |
| Greenbush School Department                        | \$1,289,003.02    | 143.5      | \$8,982.60   |
| Greenville School Department                       | \$1,746,510.12    | 116.5      | \$14,991.50  |

## State of Maine DEPARTMENT OF EDUCATION

#### 2021-22 ELEMENTARY TUITION RATES

**Grades PreK-8** 

|                                 | Graues Fren-6     | PreK-8     | 2021 - 22    |
|---------------------------------|-------------------|------------|--------------|
|                                 | 2020 - 21         | Attending  | Elementary   |
| School Administrative Unit      |                   | Enrollment | Tuition Rate |
| School Administrative Unit      | Operating Expense |            |              |
| Hancock School Department       | \$2,109,245.70    | 200.5      | \$10,519.93  |
| Harmony School Department       | \$680,750.32      | 54.5       | \$12,490.83  |
| Hermon School Department        | \$5,857,583.44    | 755.5      | \$7,753.25   |
| Hope School Department          | \$1,899,330.19    | 166.5      | \$11,407.39  |
| Indian Island                   | \$2,518,235.53    | 84.5       | \$29,801.60  |
| Indian Township                 | \$2,594,619.26    | 123.5      | \$21,009.06  |
| Isle Au Haut School Department  | \$231,168.62      | 6.0        | \$38,528.10  |
| Islesboro School Department     | \$1,205,718.57    | 52.0       | \$23,186.90  |
| Jefferson School Department     | \$2,107,857.46    | 206.5      | \$10,207.54  |
| Jonesboro School Department     | \$443,294.23      | 53.0       | \$8,364.04   |
| Jonesport School Department     | \$1,293,197.72    | 94.5       | \$13,684.63  |
| Kittery School Department       | \$8,481,144.37    | 687.5      | \$12,336.21  |
| Lamoine School Department       | \$1,270,362.85    | 112.0      | \$11,342.53  |
| Lewiston School Department      | \$32,729,748.74   | 3532.0     | \$9,266.63   |
| Limestone School Department     | \$1,313,254.84    | 136.5      | \$9,620.91   |
| Lincolnville School Department  | \$2,304,262.74    | 205.0      | \$11,240.31  |
| Lisbon School Department        | \$7,335,098.12    | 849.0      | \$8,639.69   |
| Long Island School Department   | \$331,006.00      | 14.5       | \$22,828.00  |
| Machias School Department       | \$2,298,254.25    | 325.5      | \$7,060.69   |
| Machiasport School Department   | \$568,127.39      | 52.0       | \$10,925.53  |
| Madawaska School Department     | \$2,899,955.74    | 269.5      | \$10,760.50  |
| Medway School Department        | \$1,173,142.66    | 101.0      | \$11,615.27  |
| Milford School Department       | \$2,494,433.70    | 297.5      | \$8,384.65   |
| Millinocket School Department   | \$2,624,925.57    | 304.0      | \$8,634.62   |
| Monhegan Plt. School Department | \$142,226.54      | 4.0        | \$35,556.64  |
| Mount Desert School Department  | \$2,791,485.83    | 142.0      | \$19,658.35  |
| MSAD 27                         | \$4,940,300.58    | 584.5      | \$8,452.18   |
| MSAD 46                         | \$4,836,131.82    | 559.5      | \$8,643.67   |
| MSAD 76                         | \$732,371.51      | 25.0       | \$29,294.86  |
| Nobleboro School Department     | \$1,744,149.49    | 125.0      | \$13,953.20  |
| Northport Public Schools        | \$1,677,614.28    | 113.0      | \$14,846.14  |
| Orrington School Department     | \$3,173,165.67    | 350.5      | \$9,053.25   |
| Otis School Department          | \$987,782.85      | 86.0       | \$11,485.85  |
| Pembroke School Department      | \$878,120.13      | 66.5       | \$13,204.81  |
| Penobscot School Department     | \$1,092,503.58    | 54.0       | \$20,231.55  |
| Perry School Department         | \$737,466.88      | 82.0       | \$8,993.50   |
| Pleasant Point                  | \$2,676,436.36    | 143.0      | \$18,716.34  |
| Portland Public Schools         | \$51,787,327.70   | 4449.5     | \$11,638.91  |
| Princeton School Department     | \$1,091,157.27    | 120.0      | \$9,092.98   |
| RSU 01                          | \$13,584,883.03   | 1151.5     | \$11,797.55  |
| RSU 02                          | \$14,286,195.46   | 1313.5     | \$10,876.43  |
| RSU 03/MSAD 03                  | \$7,630,021.47    | 736.5      | \$10,359.84  |
| RSU 04                          | \$8,673,297.62    | 935.5      | \$9,271.30   |
| RSU 05                          | \$15,097,327.96   | 1352.5     | \$11,162.53  |
| RSU 06/MSAD 06                  | \$22,510,343.87   | 2284.0     | \$9,855.67   |
| RSU 07/MSAD 07                  | \$959,040.39      | 37.5       | \$25,574.41  |
| RSU 08/MSAD 08                  | \$1,518,322.59    | 120.0      | \$12,652.69  |
| RSU 09                          | \$13,706,901.90   | 1483.0     | \$9,242.69   |
| RSU 10                          | \$12,155,442.42   | 1209.5     | \$10,049.97  |

## State of Maine DEPARTMENT OF EDUCATION 2021-22 ELEMENTARY TUITION RATES Grades PreK-8

|                                  | Graues Fiek-8                         | PreK-8     | 2021 - 22                 |
|----------------------------------|---------------------------------------|------------|---------------------------|
|                                  | 2020 - 21                             | Attending  | Elementary                |
| School Administrative Unit       | Operating Expense                     | Enrollment | Tuition Rate              |
| RSU 11/MSAD 11                   | \$11,962,024.00                       | 1285.5     | \$9,305.35                |
| RSU 12                           | \$8,493,669.30                        | 887.0      | \$9,575.73                |
| RSU 13                           | \$13,205,979.93                       | 1033.5     | \$12,777.92               |
| RSU 14                           | \$22,154,835.15                       | 2186.5     | \$10,132.56               |
| RSU 15/MSAD 15                   | \$12,415,982.48                       | 1203.5     | \$10,132.50               |
| RSU 16                           | \$10,288,857.66                       | 1135.5     | \$9,061.08                |
| RSU 17/MSAD 17                   | \$10,268,637.00                       | 2103.5     | \$9,062.13                |
| RSU 18                           | \$19,698,552.71                       | 1802.0     | \$10,931.49               |
| RSU 19                           | \$19,090,332.71                       | 1251.5     | \$8,866.96                |
| RSU 20                           | \$3,786,632.55                        | 283.5      | \$13,356.73               |
| RSU 21                           | \$18,740,618.58                       | 1573.0     | \$13,330.73               |
| RSU 22                           |                                       | 1484.0     |                           |
| RSU 23                           | \$12,857,656.06<br>\$6,486,455.42     | 450.5      | \$8,664.19                |
| RSU 24                           | · · · · · · · · · · · · · · · · · · · | 483.5      | \$14,398.35               |
| RSU 25                           | \$6,631,039.40                        | 691.0      | \$13,714.66<br>\$8,636.88 |
| RSU 26                           | \$5,968,080.88                        |            |                           |
| RSU 28/MSAD 28                   | \$4,965,494.51                        | 431.0      | \$11,520.87               |
| RSU 29/MSAD 29                   | \$9,416,003.64                        | 727.5      | \$12,942.96               |
| RSU 30/MSAD 30                   | \$6,613,036.50                        | 965.0      | \$6,852.89                |
| RSU 31/MSAD 31                   | \$1,709,694.11                        | 163.0      | \$10,488.92               |
|                                  | \$2,907,005.44                        | 274.0      | \$10,609.51               |
| RSU 32/MSAD 32                   | \$2,062,579.76                        | 185.0      | \$11,149.08               |
| RSU 33/MSAD 33                   | \$1,580,987.18                        | 177.5      | \$8,906.97                |
| RSU 34                           | \$7,949,200.80                        | 910.0      | \$8,735.39                |
| RSU 35/MSAD 35                   | \$15,626,224.13                       | 1436.0     | \$10,881.77               |
| RSU 37/MSAD 37                   | \$3,793,929.86                        | 438.5      | \$8,652.06                |
| RSU 38                           | \$9,191,716.09                        | 785.5      | \$11,701.74               |
| RSU 39                           | \$6,120,004.96                        | 680.5      | \$8,993.39                |
| RSU 40/MSAD 40                   | \$13,207,492.02                       | 1219.0     | \$10,834.69               |
| RSU 41/MSAD 41                   | \$4,156,639.39                        | 447.0      | \$9,298.97                |
| RSU 42/MSAD 42                   | \$2,040,982.73                        | 245.0      | \$8,330.54                |
| RSU 44/MSAD 44<br>RSU 45/MSAD 45 | \$5,615,677.72                        | 486.5      | \$11,543.02               |
|                                  | \$1,834,125.20                        | 194.5      | \$9,429.95                |
| RSU 49/MSAD 49                   | \$12,705,051.54                       | 1310.0     | \$9,698.51                |
| RSU 50                           | \$2,064,592.08                        | 226.5      | \$9,115.20                |
| RSU 51/MSAD 51                   | \$17,719,342.72                       | 1447.0     | \$12,245.57               |
| RSU 52/MSAD 52                   | \$12,533,672.37                       | 1339.0     | \$9,360.47                |
| RSU 53/MSAD 53                   | \$6,477,542.41                        | 578.5      | \$11,197.13               |
| RSU 54/MSAD 54                   | \$13,617,415.20                       | 1503.0     | \$9,060.16                |
| RSU 55/MSAD 55                   | \$5,711,451.95                        | 644.5      | \$8,861.83                |
| RSU 56                           | \$4,986,914.76                        | 509.5      | \$9,787.86                |
| RSU 57/MSAD 57                   | \$20,278,479.85                       | 1858.5     | \$10,911.21               |
| RSU 58/MSAD 58                   | \$3,957,141.14                        | 357.5      | \$11,068.93               |
| RSU 59/MSAD 59                   | \$4,711,034.02                        | 371.0      | \$12,698.20               |
| RSU 60/MSAD 60                   | \$19,610,600.19                       | 1988.0     | \$9,864.49                |
| RSU 61/MSAD 61                   | \$11,543,910.47                       | 1025.0     | \$11,262.35               |
| RSU 63/MSAD 63                   | \$4,615,777.02                        | 447.5      | \$10,314.59               |
| RSU 64/MSAD 64                   | \$6,305,130.49                        | 714.5      | \$8,824.54                |
| RSU 67                           | \$5,509,136.16                        | 618.5      | \$8,907.25                |
| RSU 68/MSAD 68                   | \$4,628,579.41                        | 615.5      | \$7,520.03                |

# State of Maine DEPARTMENT OF EDUCATION 2021-22 ELEMENTARY TUITION RATES Grades PreK-8

|                                    |                    | PreK-8     | 2021 - 22           |
|------------------------------------|--------------------|------------|---------------------|
|                                    | 2020 - 21          | Attending  | Elementary          |
| School Administrative Unit         | Operating Expense  | Enrollment | <b>Tuition Rate</b> |
| RSU 70/MSAD 70                     | \$2,719,590.78     | 342.0      | \$7,952.02          |
| RSU 71                             | \$10,663,453.51    | 941.0      | \$11,332.04         |
| RSU 72/MSAD 72                     | \$6,776,060.40     | 727.5      | \$9,314.17          |
| RSU 73                             | \$9,172,580.50     | 1002.5     | \$9,149.71          |
| RSU 74/MSAD 74                     | \$4,545,206.26     | 375.5      | \$12,104.41         |
| RSU 75/MSAD 75                     | \$18,262,507.88    | 1666.5     | \$10,958.60         |
| RSU 78                             | \$2,142,992.85     | 126.0      | \$17,007.88         |
| RSU 79/MSAD 01                     | \$10,664,478.38    | 1220.0     | \$8,741.38          |
| RSU 80/MSAD 04                     | \$3,305,346.39     | 341.5      | \$9,678.91          |
| RSU 82/MSAD 12                     | \$1,132,950.15     | 79.5       | \$14,250.95         |
| RSU 83/MSAD 13                     | \$1,588,165.63     | 113.5      | \$13,992.65         |
| RSU 84/MSAD 14                     | \$1,029,742.86     | 100.0      | \$10,297.43         |
| RSU 85/MSAD 19                     | \$1,146,672.30     | 68.0       | \$16,862.83         |
| RSU 86/MSAD 20                     | \$2,975,886.96     | 317.5      | \$9,372.87          |
| RSU 87/MSAD 23                     | \$4,879,786.71     | 550.0      | \$8,872.34          |
| RSU 88/MSAD 24                     | \$1,624,208.87     | 174.0      | \$9,334.53          |
| RSU 89                             | \$1,934,047.36     | 198.5      | \$9,743.31          |
| Saco School Department             | \$18,947,021.79    | 1830.5     | \$10,350.74         |
| Saint George Public Schools        | \$2,987,804.80     | 185.5      | \$16,106.76         |
| Sanford School Department          | \$17,368,463.34    | 2018.0     | \$8,606.77          |
| Scarborough School Department      | \$22,129,198.43    | 1925.5     | \$11,492.70         |
| Sebago Public Schools              | \$1,457,306.76     | 115.0      | \$12,672.23         |
| Sedgwick School Department         | \$1,171,252.40     | 78.5       | \$14,920.41         |
| South Bristol School Department    | \$1,187,770.22     | 63.5       | \$18,705.04         |
| South Portland School Department   | \$23,627,038.13    | 1995.5     | \$11,840.16         |
| Southport School Department        | \$501,283.80       | 28.5       | \$17,588.91         |
| Southwest Harbor School Department | \$2,722,445.29     | 123.5      | \$22,044.09         |
| Surry School Department            | \$1,385,549.74     | 137.5      | \$10,076.73         |
| Tremont School Department          | \$2,068,114.24     | 105.0      | \$19,696.33         |
| Trenton School Department          | \$2,153,578.64     | 123.5      | \$17,437.88         |
| Vassalboro School Department       | \$3,808,688.86     | 399.5      | \$9,533.64          |
| Veazie Public Schools              | \$2,112,671.55     | 149.5      | \$14,131.58         |
| Waterville Public Schools**        | \$10,010,499.98    | 1061.0     | \$9,434.97          |
| Wells-Ogunquit CSD                 | \$11,529,333.14    | 948.5      | \$12,155.33         |
| Wesley School Department           | \$141,841.19       | 9.0        | \$15,760.13         |
| West Bath School Department        | \$1,654,380.59     | 106.0      | \$15,607.36         |
| Westbrook School Department        | \$16,908,132.12    | 1673.5     | \$10,103.46         |
| Whiting School Department          | \$345,898.11       | 25.5       | \$13,564.63         |
| Winslow Schools                    | \$6,854,253.77     | 711.5      | \$9,633.53          |
| Winthrop Public Schools            | \$5,345,726.20     | 590.5      | \$9,052.88          |
| Wiscasset School Department        | \$3,076,621.12     | 272.0      | \$11,311.11         |
| Woodland School Department         | \$1,080,103.23     | 146.5      | \$7,372.72          |
| Yarmouth Schools                   | \$12,304,050.02    | 1117.0     | \$11,015.26         |
| York School Department             | \$15,942,995.13    | 1088.5     | \$14,646.76         |
| Statewide Total                    | \$1,204,818,824.30 | 114,995.0  | \$10,477.14         |

<sup>\*\*</sup> Excludes PreK enrollment

|   | State of Maine ARTMENT OF EDUCATION |                                   |   |
|---|-------------------------------------|-----------------------------------|---|
| 2021-22 ELEMENTARY TUITION RATES  Grades PreK-8 |                                     |                                   |   |
| School Administrative Unit                      | 2020 - 21<br>Operating Expense      | PreK-8<br>Attending<br>Enrollment | 2021 - 22<br>Elementary<br>Tuition Rate |
|   | Operating Expense                   | PreK-8<br>Attending Enrollment    | Elementary Tuition Rate                 |
| Current Year                                    | \$1,204,818,824.30                  | 114,995.00                        | \$10,477.14                             |
| Prior Year                                      | \$1,193,141,831.12                  | 122,717.00                        | \$9,722.71                              |
| Difference                                      | \$11,676,993.18                     | (7,722.00)                        | \$754.43                                |
| Dillerence                                      | Ψ==,σ;σ,σ,σ===                      | . ,                               |   |